0 0 00O 0 0 O I

gogd 0000000960 good 2,545,400 O
gooo oono goooooogo ooooo
ggo oboo0Oed ODO2000000

gooo gooo oo O oo oo

gooogo 00 30120 90 good ooooooooooo

googo o0 00 30120100 O OO DO 40 30110

googd L=160m
000 DO0O0OD0OO0O0OO0 t=4cm(3+1) A=663m2

O 0O
oooooo
0ogd O O O ogd O O O O O O o O
1 ggooood C
2,330,000
2 gooooogdg C 0o
ggooood
3 C 2,250,000 oo
4 goooood B
2,300,000
5 ggooood B
2,270,000
6 ggoooood B
2,280,000
gogodocooogoooooooooooooooooooooooggooocoogono
godoOooogopbooogoooosgoooooogoono
ogoono
0000000000000 00ODOo00oooooooo oooooooooooonoooo

goooo 0000000960 gbooonO  5035400003854-00-00




